m/sec

m/sec

0.00020

0.00025

0.00000
—0.00025
—0.00050

seg#= 45: GEORZ3

- IIII|IIII|IIIIIIII|IIII|III

Band Pass

2000 4000 6000 8000
GL-UD( 1) kek030421

Filter: 2.< f < 3.Hz

seg#= 45: GEOL3

poavrishl o

=
=

-l_llllil

2000 4000 6000 8000

Data no. in time



m/sec

m/sec

0.002

0.001

0.000

—0.001

—0.002

seg#= 45: GEORZ3

:_ T T T T | T T T T T T T T T
__ | | | | | | | | | | | | | | | | |
0 2000 4000 6000
GL—NS( 2) kek030421

Band Pass Filter: 2.< f < 3.Hz

seg#= 45: GEOL3
: T T T T | T T T T T T T T T T T :
E_ l l l l | l l l l | l l 1 l | l l l l |_E
0 2000 4000 6000 8000

Data no. in time



m/sec

m/sec

0.002

0.001

0.000

—0.001

—0.002

0.0004

0.000%

0.0000
—0.0002
—0.0004

seg#= 45: GEOZ3

_— T T T T | T T T T T T T T T T T T
C -, AMW T
- oo (i
__ | | | | | | | | | | | | | | | | | | |
0 2000 4000 6000 8000
GL—EW( 3) kek030421
Band Pass Filter: 2.< f < 3.Hz
seg#= 45: GEOL3
E T T T T | T T T T T T T T | T T T T
:_ L L L L | L L L L | L L L | L L L L |
0 2000 4000 6000 8000

Data no. in time



m/sec

m/sec

0.0004

0.0002

0.0000

—0.0002

0.00010

0.00005

0.00000
—0.00005
—0.00010

seg#= 45: GEORZ3

Data no. in time

2000 4000 6000 8000
UG—UD( 4)  kek030421
Band Pass Filter: 2.< f < 3.Hz
seg#= 45: GEOL3
: T T T T | T T T T T T T T T T T T :
:_ L L L L | L L L L | L L L L | L L L L |_:
0 2000 4000 6000 8000



m/sec

m/sec

0.0004

0.000%

0.0000
—0.0002
—0.0004

0.00010

0.00005

0.00000

—0.00005

—0.00010

seg#= 45: GEORZ3

:

1

- T

2000 4000 6000 8000
UG—NS( 5) kek030421
Band Pass Filter: 2.< f < 3.Hz
seg#= 45: GEOL3
__ T T T T | T T T T T T T T T T T T {__
:— l l l l | l l l l | l l l l | l l l l J—:
0 2000 4000 6000 8000

Data no. in time



m/sec

m/sec

0.0005

0.0000

—0.0005

0.0001

0.0000

—0.0001

seg#= 45: GEORZ3

-

<000

Band Pass Filter

seg#= 45: GEOL3

4000
UG-EW( 6)

2.< f < 3.Hz

6000
kek030421

8000

4000

Data no. in time

6000



um /sec(NS)

um /sec(NS)

2000

1000

—1000

-2000

400

200

—-200

—400

seg#= 45 45: kek030421:GE023

[

|IIII|IIII—IE

i

—-2000 —-1000 0 1000 2000

um /sec(EW)

Ground Surface

Band Pass Filter:

TR AR I

—-400 —200 O 200 400
um /sec(EW)

um /sec(NS)

f <

um /sec(NS)

200

—-500

100

—100




um /sec(UD)

um /sec(UD)

seg#= 45 45: kek030421:GE023

T T T T T T T | T T T T | T T H
2000 —
1000 [ —

0 |~
C1 —
0 1000 2000
um /sec(HR)
Ground Surface
Band Pass Filter: 2.<
600 1—‘ T 71 | T TT | T TT | T T T |—l:
400 —]
200 [— —]
0 — =
—200 0 200 400 600

um /sec(HR)

um /sec(UD)

f <

um /sec(UD)

B
H

750

500

250

—-250

T

150

4

100

o0

-0

—-100

—100 —50 0 o0 100 150
um /sec(HR)

[T




